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1. The torque of an induction motor depends on
foet S3qeM AR &1 o R R FRar 2|

(A) flux generated by the stator TeI gRT 3c0d
i

(B) per phase rotor current Ufdths1 AR die

(C) rotor power factor 3R UTaR TR

(D) impedance of rotor side SUS~T 371 X ATSS
(E) all of these s1dd

ANS:- (E)

2. When the supply of an induction motor is
switched on, what will be the induced emf in its
rotor initially?

7ol fepdit SR HICR &bt ATTS 3 HI Tdt 2 df B3
H 509¢ AR | AR E.CHES (emf) RIT I ?

(A) will be the same as it was while running 31 &
BT f5iaAT getd 9w ar

(B) minimum ~JAdH
(C) zero [

(D) maximum 31fefBan
ANS:- (C)

3. The frame of an induction motor is made of

which of the following materials?
TP S5 HIY i WA fufciRaa # 4 fobg ueref &t ot
gldl 8?

www.omgfreestudy.com

CSTA
Launchpad

3 Open Mind Guruji
@
GATITON
P> Google Play

# Click here to Download App

(A) Bronze §isT

(C) aluminum TcgfAfAIH

(B) Silicon steel fGfc®iT el

(D) cast iron dRE ATARA

ANS:- (D)

4. The stator of an induction motor is made of

UROT AR BT LR A F11 57T 2
(A) aluminum TegHAIH

(B) Silicon steel f&fci®iT s@ra
(C) copper dia

(D) cast iron & dile

ANS:- (B)

5. The shape of the stator of an induction motor is

IRUT HIeX & WX &I 3BR eiaT &l
(A) spherical MATHR

(B) cube g1q

(C) hollow cylinder JRaeTT det

(D) cuboid (rectangular) BT (3IdWbeldb!)
ANS:- (C)

6. Which of the following motor is similar to an
induction motor?

fAafcfdd & & &1 4t Ale Uh IROT AIeR & A 272
(A) DC compound motor | DC 6UT3S A

(C) Synchronous motor | f&pAT Hiex
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(B) DC series motor | DC T3 AR
(D) asynchronous motor | TfAIAT Hie?
ANS:- (D)

7. A polyphase induction motor is usually

TS Uleitthd IROT Ale? AR W 8ldT 8l

(A) self starting T YS

(B) slow start it 71fq & T1é &1 aremm

(C) Not self starting e A TIfdT

(E) started with only a split phase arrangement
eIt T REteTe st aeT & |1 S fabar

(D) fast start dsit & &

ANS:- (A)

8. Which of the following motor is self-starting?
fAafafad # § eF-dt Hick dep-wrd 87

(A) variable speed motor T 7fd AR

(B) low horse power motor T35 318 21fch &t AR

(C) three phase induction motor &l %57 HR0T AR
(D) single-phase induction motor Tdhel-Us51 YT HIeX
ANS:- (C)

9. Why is a three phase induction motor self
starting?

TE i %31 §5aM Hier Jeh TIfen o=l gXdt 82

(A) due to non-availability of any other supply to
the rotor AeX # fasalt 3177 3MYfd (TTs) FAfav &
BRUT

(B) due to stator offset winding by a 120 degree

phase angle T 120 33157 U557 10T §RT I 3{ThdC
arSfEa1 & BROT

(C) 3 single phase lines introduced into the stator
with a 180 degree phase angle & & T 180 fa1it
5T BIUT gRT APTTE 1 3 TG7eT BT A8 & BROT

(D) due to high starting current of the motor A& &
3o WIS e & BROT

ANS:- (B)

10. A poly phase induction motor is generally
T Ulcdt U1 S5 HIe ATHIRIG: Eld! @

(A) Self start e JeTé

(B) slow start @R w1

(C) started with only a split phase arrangement
Pl TP faHTIid TRUT Fawel & |1l B fbar
(D) both (A) and (B) 3% T &1 &ldl 21

ANS:- (A)

1. What is the purpose of skewing the rotor slot in
an induction motor?

$5FM HI # AR Wil B fasT A &1 Y= 8?2
(A) Increasing the distribution factor fE&teqRM
YR Bl ST

(B) reducing the locking tendency of the rotor &}
& AT Ygfd Bl BH BAT

(C) increasing the breath factor si Baex B g&MT
(D) (A) 3R (B) &

(E) none of these 1R 4 ®Ig T&t

ANS:- (B)

12. The speed of squirrel cage induction motor can

be controlled by

TIARe a1 IRUT Hiek &t wits Fafeifad gri f[AdfAa &t
ST Gl 8

(a) Changing supply frequency HWwITE & ATgfd #
URadd &b

(b) Changing number of poles ¥l &t H&aT H URadd
TRb

(c) Reducing supply voltage TwATS dieesT €T B

(d) All of these 518 @ Tt

Ans : (d)

13. The synchronous speed of 4 pole, 5 HP, 3 phase,
50 cycle/sec, 400 V induction motoris ___
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4 Y1, 5 HP, 3 U531, 50 ATsfdset/A., 400 V UIROT AR i
qoabictt T3 gidt 8

(a) 1000 pm

(b) 1500 rpm

(c) 3000 pm

(d) 3000 rpm

Ans : (b)

14. Which of the following is not the starter of 3
phase induction motor?

diH-T551 IROT AR T Wik FAafeifaa 7 @ | o ar a8t
8?

(a) Direct online starter It 3 ATed Wi}

(b) Star delta starter &R 3¢eT Wik

(c) Slip ring motor starter f&U 1 MR W&

(d) Three point starter dl-w@rge WIR

Ans: (d)

15. Which of the following is not the expected
reason of the fault when motor takes more time for
running (to accelerate)?

HI? & IoTd THY 39 aRd 811 A o8t & BRUT
fafafaa # d qanadt 22

(a) Excess loading 31fafkes a3

(b) Low main voltage &H H&T dleesl

(c) Contact points may be faulty &uds faig groguf €
LT

(d) Faulty bearing arsyquf fafar

Ans : (¢)

16. Which of the following appliances draws
inductive reactive power?

fRafefaa ® @ B I1 3uTs? IR Ufadrd! Urer T &dr
8?

(a) Electric heater saifdgd X

(b) Filament lamp foeamde o g

(c) Electrolysis system which draws the current

view transformer and rectifier seiqIfafay faweq sit
SIABIHR 3R IFABRR & HIETH & PBic 31 HRdl &

(d) Three-phase induction motor @q-T31 IROT AR
Ans : (d)

17. Induction motor runs at

IROT ik Fafeifda R aerdt @

(a) synchronous speed geddbTeit Wi

(b) less than synchronous speed gedidbTcil Tis &
BhH

(c) greater than synchronous speed gedidbleil Tis &
3feid

(d) constant speed f@R &fis

Ans : (b)

(a) Speed of rotor of an induction motor U307 Al &
L ARIGE:]

(b) Speed of synchronous motor geddIicids AR bt
nfa &

(c) Speed of induction motor at no load A &3 W
IROTHIR &I 1fd A

(d) Natural speed of rotating magnetic field qpﬁq
JrIhIg & Ht A TTfd &

Ans : (d)

19. If the motor winding comes in contact with any
Iron made part of the motor, then occurs. afe AR
arsfea, Miex § e @ o1 fosdt f&d & duds d 3t &, at
....... gidr 2l

(a) Open circuit fault T YRY2l S

(b) Short circuit fault &g URU gIY

() Earth fault 31f g9

(d) Capacitor fault §uTRa g9

Ans: ()
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20. Commonly used AC motor for industrial
applicationis_____

NN IIRAPT 8 AHRT dR W 90T 81 | aredt e,
AR 8

(a) synchronous motor geddbIfeid AR

(b) commutator motor BRIEER HIR

() 3-Phase induction motor %ft %37 IRUT Hiex

(d) DC series motor &1.3ft. 20fl B Aiex

Ans : (¢)

21. The induction motor will run at synchronous
speed. ifitisrun ___

IRUT HIR JedbIicids ITfd WR AT, ST TE ovrvrere
ARt e

(a) at no load AT AT W

(b) at light load &H @13 W

(c) at full load eI IS WR .

(d) with injected emf Yafid emf & TTA

Ans : (d)

22. In an induction motor, rotor speed is always:

T IROT HIR #, AR Fi a1l Bt & Jad

(a) Less than the stator speed ¥e &1 ATl 9 BH

(b) More than the stator speed ¥e3 &t ot A 31ftid
(c) Equal to the stator speed ¥eR &t TTeT &b aRTER
(d) None of these 8T8 & ®I3 &l

Ans : (a)

23. The principle of operation of a 3 phase induction
motor is most similar to that of a__

3-U51 WRUT HIcR & YITeld &l gld 9gd $o fAafeiikad
BT

(a) synchronous motor geidbTail HIcR ..

(b) repulsion start induction motorfd@sor Teré IRuT
LI[cd

(c) transformer with a shorted secondary Fl'qqr?-l?f
At aTeTl TEHIHiR

(d) capacitor start, Induction run motor BufgeR wré,
IROT A AR

Ans : (c)

24. Synchronous wattage of an induction motor
means : Ydb Al BT JeddbIfcid d1esT Bl AdAd & :
(a) Stator input in watts dT¢ # ¥R sAYC

(b) Rotor input in watts dIc H eI 39YC

(c) Combined stator and rotor input in watts T3
AT A BT TGh ST1YC

(d) Shaft output in watts dTc | 2TUE HA13cYC

Ans : (b)

25. ____is used to support the rotor of an induction

motor.

IRP AR & AR & JUI¢ & fiw &1 39T fosar sirar 81
(a) Ball bearing/dteT 3afT

(b) Needle bearing/ fiset Safar

(c) Plummer block/%THR &cild

(d) Bush bearing/gI ST

Ans : (a)

26. When an induction motor is switched on, the

rotor frequency is :

576l IRe I Pl TTe] dBid & dl AR bt ATqfa EXcit 21
(a) Zero [

(b) 60Hz

(c) Same as slip frequency &Y 3TTfd & FHMA

(d) Same as supply frequency 3TYfd 3afd & THE
Ans : (d)

27. The speed with which magnetic field of an
induction motor rotates is called:
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{519 71fd @ IR AR b1 Jrabig &3 FAAT & 39 ...
Ped 8l

(a) Shaft speed 2moe TTfd

(b) Effective speed JHTd 71fd

(c) Synchronous speed deddlIfcid TTfd

(d) Slip speed f&eig 7fa

ANS: C

28. Which of the following motor requires minimum
maintenance? fFafeifad # & food Hiex Bt gAdH
RAFATT &} 5783 Bl &2

(A) DC series motor DC 210t Hie?

(B) DC shunt motor DC 2ic Ale?

(C) Slip ring induction motor f&Y fT $gae Hiex
(D) squirrel cage induction motor TR P31 S5GA
"X

ANS:- (D)

29. In a spiral cage induction motor, if the two
rotors become closed open circuit, what will be the
effect on the rotor?f&hdel &t s3d2M HIcX H AfS &
AR g 3N Fthe 16t g7 577 &, dl A W a7 /R
E{HIE

(A) rotor will not move R F&t T

(B) the rotor will run very fast with noise A AR &

12 Igd a1 deT

(C) the rotor will run very slowly with noise, 3e? iR
& 91 ggd &\ Te,

(D) the rotor will make noise and will not move e
IR BT 3R & e

ANS:- (C)

30. Slip ring induction motors are preferred when-
feT 1 $3aRM e &Y aitaar &t STdt 8 519-

(A) High starting torque is required. 3= 3TRMH® ¢idh
Ft 31T gdl 2|

(B) requires less starting torque. = 3RfH Tid> bt
ATARIBAT el &l

(C) torque is zero. TH AT & |

(D) the load is heavy. @ig U &1 |

(E) less load el =7 &1

ANS:- (A)

31. In a slip ring induction motor, how many slip
rings are there?

feeiy for IRoft Aier #, fasan feery for gha &2

(A)3

(B) 4

Q5

(D)6

(E)7

ANS:- (A)

32. Which of the following machines has the
highest starting torque?fAafaif@a weftai # & fooa
H2f BT 3RS 3ot (STds) 3=an gtar 8?

(A) squirrel cage induction motor TFeRel b1 §3aM
MR

(B) Slip ring induction motor f&d f3T $sae Hiew
(C) capacitor start induction motor d&ufgex wré
SSHRM HIR

(D) shaded pole induction motor 233 Ulel s3d2[
LI

ANS:- (B)

33. In a slip-ring induction motor, the rotor current
frequency depends on ...........

fopet feiu-foT gsaem Aie? & AR Hie If ... W
Rk &=t 21

(A) rotor conductor AR HeFER

(B) rotor inductor e §8aR

(C) amount of slip f&Td &t AT

(D) inductive reactance g3fed Readq
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(E) all of these s1dd
ANS:- (C)

34. To change the speed of which of the following
motors, resistance is added to its rotor circuit?

frafdfda & § oF-Ht ik & 71fd gean & fae 396
A gRuy #§ ufaRre sisT sirar e?

(A) squirrel cage induction motor fUSRITAT IROT AIR
(B) slip ring induction motor f&T 1 IRUT AR

(C) single phase induction motor f&7TeT 3T BRUT HieR

(D) synchronous motor geddbTfeid HIcT
ANS:- (B)

35. Why is resistance added to the rotor winding in
a slip ring inductor?

feeTa o7 9Ruft & goufes $5a (rotor winding) B UfaR¥e
fdog BROT I 15T 57147 87

(A) to reduce the starting current and increase the
starting torque URfH® ERT BH 637 3R YR gof
g de[ & feie

(B) only to limit the starting current RfH® URT
3Hifid B & fee bae

(C) to limit the starting current and reduce the
starting torque URfH® URT iffd &1 & fafe 3k
URH® Fof ge1 BH B & feie

(D) only to increase the starting torque dbdd URHEG
of agr & fofe

ANS:- (A)

36. The speed of a '50Hz' three-phase induction
motor under full load condition is '725 RPM', and
the number of poles of the motor is

Bl aiis fafd & 31doa fdt '50Hz d-B31 s3aeM AR
&t 71fd 725 RPM' 8, 31R HIR & Uied Bt 44T 2|

(A)2
(B)4
©6

(D) 8

(E) 10
ANS:- (D)

37. If the full load speed of a 50 Hz, three phase
induction motor is 1440 RPM, what is the number of

poles in the motor?

Ifé 50 51, ot BT 9T Hie? # qof eils 71fd 1440 RPM
2, dl /e # Ul bl H&aT T &2

(A)2

(B)4

(€6

(D)8

(E)9

ANS:- (B)

38.If a 4 pole, three phase, 50 Hz star connected
induction motor has 5 percent full load slip, then
the full load speed of the motor is.

Ife T 4 3d, 3t BT, 50 51 R A 3t s=F[ Al H
5 wfdRrd quf @S f&e7u €, dl AR &t guf HR 71fd 2|
(A) 1400 RPM

(B) 1405 RPM

(C) 1425 RPM

(D) 1500 RPM

(E) 1525 RPM

ANS:- (C)
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39. A 4-pole d.c. generator runs at 1500 rpm. The
frequency of current in armature winding is ___

UH 4-Yd fm3A= 1500 rpm W IedT 81 3THR A8
A URT $t g e

(a) ZeroR[™

(b) 25 Hz

(c) 50 Hz

(d) 100 Hz

Ans : (¢)
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